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The figures in the margin indtc&té
full marks for the questions.

Answer any five questions.

1. (a) Write an algorithm to implement Euler’s
method. Solve the differential equation
dzy_ 2 i 2 “th = ;s ler’
—dx2 =x“+Yy" with y(0) =1 using Euler’s

method by choosing a step size of
h =0-2 to obtain solution for 0<x<l1.

4+8=12

(b)) Using Gauss-Seidel method solve the

following equations : 8
2x+y+62=9
8x+3y+2z=13
x+5y+z=7
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2. (a)

(b)

(o)

3. (a)

(b)
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Solve e*-4x~1=0, correct to 4 places () Cm_zm_Zmﬁos-Mmurmos Sgdand, o b
of decimal using the method of real root of x*-x=10, correct to 4
successive approximation. 5 decimal places. -
Fit m.ﬂmam_uo_w y=atbx+cx? to the 4. (a) State Newton’s forward interpolation
following data : 10 formula. Compute f(1:2) from the
x &1 2184 5,67 B 9 following data : ik -
y /%2 6,7 810 11 11 10 9 S Y R T
_ flx) : 9 3275 79 15525 269
E-1
Prove that ——=4, where E is shift .
E (b) Using Runge-Kutta method of fourth
operator and 4 is forward difference . AN\ order, solve :
~operator. S/ B\ :
13 B - —m=xpty
Using Newton’s backward interpolation- m M g M
formula evaluate f(3:8) from the’ \ \,m\m with y(0)=1 at x=01, 0-2,0-3. ‘12
following data : w__p,___”w._,//,f _ &
AT e ety M T By, 5. (a) Using Eo&mmw Euler method, find .N at
F(x) 1 15 29 31 43 x = 01 an kwo 2, given that
dy_, 2x |
Using Gauss-elimination method solve ax Y y’ y(0)=1 with correct resuit
the following equations : 7 upto four places of decimal. 8
2x+2y+2=12 ~ (b) Using Bisection method, find a real root
3x+2y+2z=8 of the equation x3-4x-9=0, correct to
5x+10y-82=10 3 decimal places. 6
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(c) Use Trapezoidal rule with n=4 to

estimate fodx and compare this

estimation with exact value. 6

6. (a) Using Regula-Falsi method, solve

x®-5x+2=0, correct to 3 decimal places.
5

dy 1
() Solve —t=—(x+y)y’ with y(0)=1 at

x=02, 0-4, 06 by Euler method and
hence find y(0-8) by Milne’s method.
: 8

(c) Compute first derivative of the function
f(x) at the point 0-1 from the following
data : 7

i B e
fd) : 1.9 1°90 33
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